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U.G. 2nd Semester Examination - 2021 _
f)  What are the two marks of a priori judgement?
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[HONOURS]
Course Code : PHIL-H-CC-T-4 g) Distinguish after Hume two differences
(Outline of Western Philosophy-II) between impression and idea.
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The figures in the right-hand margin indicate marks. Al
Candidates are required to give their answers in h)  Give an example, of a priori synthetic
their own words as far as practicable. judgement.
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a)  All qualities are subjective— who said this?
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b) Discuss two differences between primary and
secondary qualities according to Locke.
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c) Mention the name of any two books written by
Hume.
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d) What are the 'Laws of Association' according
to Hume?
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a) How does Berkeley establish 'Esse est percipi'.
Discuss briefly.
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b) Discuss how Berkeley rejected the distinction
between primary and secondary qualities
advocated by Locke.
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c) Elucidate the distinction between analytic and
snthetic judgement after Kant.
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d) Distinguish, after Hume between relations of
ideas and matters of fact.
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e) How does Locke refute the doctrine of Innate
Ideas?
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3.  Answer any one question: 10x1=10
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Is Berkley a solipcist? Give adequate reason for

your anSwer.
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Explain critically, Copernican Revolution in

Kant's philosophy.
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What is scepticism? Give a brief account of

Hume's scepticism.
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